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SECOND REVISION TEST - 2025

Standard X Reg Mo, [ | |

MATHEMATICS
Time : 3.00 hrs Part - | | Marks : 100
I.  Choose the correct answer: 14x1=14

10.

11.

.A={abp},B= {2,3),C= {p,q.r,s} then n[(AuC) x Bl is

a) 8 b) 20 c) 12 d) 16
100 = (x + 1)~ (x - 1)% represents a function which is

.a) linear b) cubic c) reciprocal - ' d) quadratic
74K & (mod 100)

a) 1 b) 2 c) 3 : d) 4

. Ifthe HCF of 85 and 117 is expressible in the form of 65m — 117, then the value of mis °

a) 4 by 2° o)1 d) 3

. The values of aand b IF 4x% — 24x3 + 76x2 + ax + b is a perfect square are

a) 100, 120 b) 10,12 - ¢) =120, 100 d) 12,10

. Transpose of a column matrix is

a) Unit matrix b) Diagonal matrix c¢) Column matrix d) Row matrix

A tangent is perpendicular to the radius at the

a) Centre 'b) Point of contact c) Infinity d) Chord
Ifin triangles ABC and EDF, %-g = % then they will be similar

a) £B=LE b) £A=4D . ¢€)£B=£D d) £LA=/F
If (5,7), (3,p) and (6,6) are collinear, then the value of p is

a) 3 b) 6 c)9 d) 12

(2,1) is the point of intersection of two lines

a) x-y-3=0;3x-y-7=0 by x+y=3;3x+y=7

c) 3x+y=3;x+y'=7 d)x+3y-3=0;x-y-7=0

The angle of elevation “as we move towards the foot of the vertical object like
tower or building.

a) decreases b) equal c) 45° ' d) increases
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the volume is

2:; ‘
If the radius of the base of a cone is tripled and the heIQht is dOUb'Ed then

a) made 6 times  b) made 18 times c) made 12t|mes ‘ d) unchanged

,The range of the data 8, 8,888.... 8is

a) 0 RN .c)8-“"; VO Dt
A, Bare said to be mutuallyexclusrve events If R o ¥
a) _AnB 6 b) AnB=A  c)ANB= B . 'd)'A”A'ff"
| - " Part-Il | |
10x2 20

Answer any 10 questions (Q No.28 | is compulsory)
A relatron Ris given by the set {(x,y) Iy X+3, xe{o 1, 2 3, 4 5}} Determlne rts domain

andrange : A S .
Letbe a functronf N - N be deﬁned by ftx) = 3x + 2 xeN fnd the |mages of1,2,3

4

14243+ .. L4k = 325thenﬂnd1°+23+33+ ....... k?'_; |
.".'.x-‘-3 '
Simplify : 2 9 _ . .
If the dn‘ference between a number and its rec:procal is 2 f nd the number i :
(879 '?Jg 3
_ N S 3 5|
Inthematrix [ 1 -4 3. 0}
e B UG !

write () The numberof e‘lem‘enté (i) The order Ofthé:mé{ri-x'-.‘;‘- o

State the: Menelaus Theorem
Show that the pornts P(—1 5 3) 0(6 2) R(-3 4) are collmear

Toprove : 2050 _ cos eco + cot 0

1-cos0

: Calculate the slope and y-rntercept of the stralght line 8x 7y ; 6 0 . T

If the ratio of radius of two spheres is4:7, fnd the ratio of their volumes

Find the diameter of a sphere whose surface area is 154 mz

Write the sample space for tossing three coins using tree dtagram
Find the standard devratron of first 21 natural numbers
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‘Part - Il
III: Answer any.10 Questions. (Q.No.42 s c.ompulsory) : 10x5=50
29. LetAé The set of all natyrg numbers less than 8, B = The set of all prime numbers less
than 8, C = The set of even prime numbers. Veerify that Ax (B - C) = (Ax B) — (Ax C)
X+2, x>1
30. Ifthe function f is defined by f)=1 2, —1sx<1 ,find the values of
; ‘ . X-1, -3<x<-1
) f(3) (i) f(0) i) f(~1.5) |
31. Find the sum of all natural numbers between 300 and 600 which are divisible by 7
acft 2) g_(4 .0} s B
32. A= 13)°%1 5 ,‘showthat (A-B)T=AT- BT.
33. Solve : 3x -2y +z =2, 2x +.3'y-z'= 5, x.4y+z=6 -
34. Showthatin a triangle, the medians are concurrent. ‘
35. Show that the given points form a parallelogram A(2.5, 3.5), B(10, —4), C(2.5, -2.5),
D(-5,5) oGO T bl s
36. A mobile phone is put to use when the battery power is 100%. The percent of battery -
power “y” (in decimal) remaining after using the mobile phone for x-hours is assumed
asy=-0.25x+1 74l ' '
i) Find the number of hours elapsed if the battery bower is 40%
i) How much time does it take so that the battery has no poWer? G -
Chid o il - 'cosf = P21
37. If cosecd + cot6 = P, then prove that COS P2 4
38. An aeroplane at an altitude of 1800 m finds that two boats are sailing towards it in the
same direction. The angles of depression of the boats as observed from the aeroplane
are 60° and 30° respectively. Find the distance between the two boats. (J§ =1 ,732)
39. A cylindrical drum has a height of 20 ¢m and base radius of 14 em. Find its curved
surface area and the total surface area.
,40. Find the mean and variance of the first “n" natural numbers.
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41. In aclass of SQ students, 28 opted for NCC, 30 opted for NSS and 18 opted both NCC
and NSS. One of the students is selected at random. Find the probability that

| i) The student opted for NCC but not NSS

i) The student opted for NSS but not NCC

iii) The student opted for exactly one of them

42. Find the sum to n terms of the series 5 + 55 + 555 + .........

Pa.rt - v

IV. Answer-all the questions. 2x8= 16,

| . , 7
43. a) Construct a triangle similar to a given triangle PQR with its sides equal to of the

: | 7
corresponding sides of the triangle PQR. (Scale factor 3 >1)

(OR)
b) Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.

44. a) Draw the graph of xy =24, x, y > 0, iJsing the graph, find
- i) ywhenx=3 and

ii) xwheny=6 _
- (OR).

b) Draw the graph of y = x2+ x — 2 and hence solve x> +x—2=0

' okkkkkh kA
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